Title:
Example 1 Simulation of the relation: (A>B) * (B-+C) * (C-=D) * (D->E) * (E> -F)
Option (0 = Connections, 1 = Implications, 2 = Confirmation, 3

5 -
Data Input (1 = RELAN-DAT (Matrix Input), 2 = RELAN KAT (Vector Input):
1
Number of Variables (max = 100, not 1licenced: max = 4):
10
Dichotomisation (0 = No,1 = Yes):
¢}
Names of Variables (max = 100) (three alphanumeric symbols, blanks as delimiters):
AAA BBB ccc DDD EEE FFF GGG HHH I1I JJJ

Vector of Dichotomisation (max = 100) (floating point format, blanks as delimitors):
0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50

Probabilities of the Apriori Chance Model (max = 100) (floating point format,blanks as delimiters):
0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50 0.50

Order of Causality (max = 100) (integer format, blanks as delimiters):

1 2 3 4 S & 7 8 9 10
Duration of Causality (max = 100) (integer format, blanks as delimiters):
%) 2 2 2 2 2 &) ) 2 9

Sample Size (max = 1000, not 1licenced: max = 50):
1000
Print Extent(0,1,2,3 = max):
0
Hypothesis Chance Model (3 apriori,® = aposteriori)
¢}
Level of Significance (Z2sig.) (depending on apriori or aposteriori random model:
2.000
Level of Simulation(Z2sim) (simulations are allways computed with apriori probabilities):
30.000
Level of Extraction(Zext) (if zero: no extraction) / Extraction Chance Model: apriori/aposteriori
=@ :

0.000 1
Inclusion-Criterion (1 = norm, 0O = not norm.) / Y(p)-Cut(0.0...1.0) / X(p)-Cut(0.0...1.0):
1 0.00 0.00

Graph Theordtical Analysis (0,1):
Weighting of Cases (0 = no, 1 = yes, file: RELAN-WEI):

0
Causal Analysis (1 = yes,0 = no)
1
Truth Function (0 = boolean function from "RELAN-IN", 1= truth values from "RELAN-FCT")
s}
Hypothetical Function (Restrictions: Signs < 79, Vaxiables < 11, Brackets < 3l:------ too long-—-=—===--
(A >B) * (B-+C) * (C-=D) * (D->E) * (E> -F)
Extractional Function (Restrictions: Signs < 79, Variables < 11, Brackets < 3l:------ too long----—----

(A >B) *» (B-+C) » (C-=D) * (D->E) * (E > -F)



Notiz
Name should be shorter than 80 letters

Notiz
By the number the kind of requested option is chosen 

Notiz
For the options 0, 1 and 2 one of both input files has to be selected.

Notiz
Without a license the number of variables is limited to 4 variables, otherwise 100 variables.

Notiz
Without Licence the number of Cases is limited to 50 cases, otherwise 1000 cases 

Notiz
If this parameter is 1 then the input data will be dichotomised by using the vector of dichotomisation.

Notiz
The parameter 0 produces the minimal output and 3 the maximal output

Notiz
Parameter 1 causes the usage of the apriori probabilities and the parameter 1 effectuates  the usage of the aposteriori probabilities.

Notiz
Z value of the choosed level of significance.

Notiz
Z value of the intended degree of simulation.

Notiz
If this parameter is zero than no extraction procedure will be done. Otherwise it denotes the degree of the extraction procedure by the selected Z value

Notiz
If the parameter is set to 1 then for the significant implicational and connectional relations a graph theoretial analysis is performed 

Notiz
This parameter is only effective by using the options 0 (connections) or 1 (implications). The parameters for Y(p)-cut and X(p)-cut restricts the output to the specified relative frequencies of the X- or Y-variables.

Notiz
The parameter "yes" induces the weighting of the cases by the vector written in RELAN-WEI.

Notiz
The names of variables are three letter words which are departed by a blank

Notiz
If the dichotomisation index is 1 then all variables are dichotimised: If the value of the original variable is greater or equal of the dichotomisation score then 1, otherwise 0

HP
Notiz
If the parameter is "yes" causal analysis will be elaborated 

HP
Notiz
If this parameter is 1 then the thruth function of the relation will be imported (from the file RELAN-FCT), if it is 0 then the boolean function in RELAN-IN will be used


HP
Notiz
Here for all given variables the apriori random probabilities has to be read in

HP
Notiz
For all variables their estimated order of causality has to be declared

HP
Notiz
Here for all variables their estimated duration of causality has to be declared

HP
Notiz
This is the hypothetical relation which has to be simulated or tested (may not be longer than 80 signs)

HP
Notiz
This is the extractional relation which could be removed from the hypothetical relation if the extraction parameter ist greater than zero

HP
Notiz
Very important: Finalise the RELAN-IN file with RETURN! Otherwise a Visual Fortran run-time error will occur!

HP
Notiz
All parameters of RELAN-IN has to be given - regardless they are used or not - othewise the computation will be terminated or will create faulty results




